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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is ETL?

		  ETL ³¶m h¡?
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	 (ii)	 Name two insecticides of plant origin.

		  nmXn CËn{Îm Ho$ Xmo H$sQ>ZmeH$m| Ho$ Zm‘ {b{IE&

	 (iii)	 What is PAGE?

		  PAGE ³¶m h¡?

	 (iv)	 What is the full form of CIBC?

		  CIBC H$m nyam Zm‘ ³¶m h¡?

	 (v)	 Where is NBPGR situated?

		  NBPGR H$hm± pñWV h¡?

	 (vi)	 Define Eusocial behaviour?

		  ¶ygmoeb ì¶dhma H$mo n[a^m{fV H$s{OE&

	 (vii)	Name two insect pest of paddy crop.

		  YmZ ‘| nm¶o OmZo dmbo Xmo H$sQ> nr‹S>H$m| Ho$ Zm‘ {b{IE&

	 (viii)	What is Bioaccumulation?

		  O¡d g§M¶Z ³¶m h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Explain the structure and mode of action of insect growth 

regulators.

	 H$sQ> d¥{Õ {Z¶§ÌH$m| H$s g§aMZm VWm H$m¶©{d{Y H$mo g‘PmBE?

3)	 What are semiochemicals? How are they useful in Biological 

control of insects.

	 go‘r¶moagm¶Z ³¶m h¡? H$sQ>mo§ Ho$ O¡{dH$ {Z¶§ÌU ‘| do {H$g Vah bm^Xm¶H$ 
h¢?

4)	 (a)	 State the differences between parasites and parasitoids.

	 	 naOrdr Ed§ naOrì¶m^ ‘| ³¶m AÝVa h¡?
	 (b)	 What is farmscaping?

	 	 ’$m‘©ñHo$qnJ ³¶m h¡?

5)	 Name eight insects which are eaten as food in various parts of 

world.

	 {H$Ýht AmR> H$sQ>m| Ho$ Zm‘ {b{IE Omo ^moOZ Ho$ ê$n ‘| g§gma Ho$ {d{^Þ 
^mJm| ‘o§ Im¶o OmVo h¢?

6)	 Compare Anopheles, Culex and Aedes mosquitoes.

	 EZmopâbg, ³¶mobo³g VWm Eo{S>g ‘ÀN>am| H$s VwbZm H$s{OE&

7)	 Describe the life cycle of Pepilo demoleus.

	 no{nbmo S>o‘mo{b¶g H$m OrdZ MH«$ g‘PmBE&

8)	 Explain the life cycle of Oxycarenus lactus. (The Dusky Cotton 

Bug)

	 Am³grHo$aoZg bo¶o{Q>g Ho$ OrdZ MH«$ H$mo g‘PmBE&
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9)	 Match the following: gw‘o{bV H$s{OE…

Column ‘A’ Column ‘B’

(i) Earias insulana (a) The Mustard Sawfly

(ii) Achaea junata (b) Mustard Aptmid

(iii) Athalia agens (c) The black cutworm

(iv) Lipaphis erysimi (d) Spotted ballworm

(v) Agrotis ipsilon (e) The Gram Pod Borer

(vi) Helicovera armigera (f) The castor semilooper

(vii) Chilo Zonellus (g) Migratory locust

(viii) Locusta migratoria (h) Swinhoe

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain sericulture and its management in detail.

	 aoí‘ H$sQ> nmbZ Ed§ CgHo$ à~§YZ H$mo {dñVma go g‘PmBE&
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11)	 Enumerate the three natural mechanisms required for the 

breakdown of toxicant in the environment. What are the 

conditions necessary for a pollutant to biomagnify.

	 n¶m©daU ‘| Am{df H$mo ^§J H$aZo Ho$ {bE nm¶o OmZo dmbr VrZ àmH¥${VH$ 
H$m¶©{d{Y¶m| H$s {ddoMZm H$s{OE&

12)	 Explain the biology, life cycle, nature of damage and control of 

following polyphagous insects:

	 a)	 Schistocerca gregaria

	 b)	 Amascata moori

	 {ZåZ nmobr’o$½g H$sQ>m| Ho$ Ord {dkmZ, Ord MH«$, ZwH$gmZ H$s àH¥${V VWm 
{Z¶§ÌU H$mo g‘PmBE…

	 (a)	 {gñQ>mogaH$m J«rJo[a¶m
	 (b)	 A‘gmH$mQ>m ‘yar

13)	 Explain the following: / {ZåZ H$mo g‘PmBE…
	 (a)	 Plant protein inhibitors / nmXn àmoQ>rZ amoYH$
	 (b)	 Behavioral control of insects / H$sQ>mo§ H$m ì¶dhm[aH$ {Z¶§ÌU
	 (c)	 IPM / AmB©nrE‘
	 (d)	 Pesticide risk analysis / H$sQ>ZmeH$ Omo{I‘ {díbofU


